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Constable Driver Male in Delhi Police Examination 2022

[Roll Number

Candidate
Name

Venue Name |Webinfotron Technologies Pvt. Ltd.
Exam Date 21/10/2022
Exam Time 9:00 AM - 10:30 AM

. Constable Driver Male in Delhi Police Examination
Subject 5022

Section : Part-A-General Awareness

Q.1 Which of the following was one of the founders of the American spaceflight company
"Virgin Galactic"?

Ans  # 1. Richard Branson
25 2. Jack Dorsey

25 3. Larry page
5 4. Jeff Bezos

Question ID : 26433098116
Status : Not Answered
Chosen Option : --

Q.2 Which of the following state governments declared the ‘Sushma Swaraj Award’ for
women in March 2022?

Ans 4 1. Haryana
5 2. Madhya Pradesh
5 3. Karnataka
25 4. Uttar Pradesh

Question ID : 26433072893
Status : Answered
Chosen Option : 1

Q.3 Who among the following was the President of the Lucknow session of the Indian
National Congress in 19167

Ans X 1. Amrit Ranchoddas Seth
" 2. Ambika Charan Majumdar
#5 3. Bishan Narayan Dhar
5 4. Jawaharlal Nehru

Question ID : 26433082077
Status : Answered
Chosen Option : 2
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Q.4 Which of the following are the part of National Waterways Number 3?
A. Kochi - Alappuzha
B. Champakkara canal
C. Alappuzha - Kollam

Ans X 1.AandB
« 2.A/BandC
X 3.BandC
X 4. AandC

Question ID : 26433054981
Status : Answered
Chosen Option : 2

Q.5 Which of the Five-Year Plans achieved high actual growth rate compared to its target?
Ans X 1. Third

X 2. Fourth
o 3. First
X 4. Second

Question ID : 26433054596
Status : Not Answered
Chosen Option : --

Q.6 ‘Harmika’ is an important architectural feature of which of the following type of
architectures?

Ans 4 1. Stupa
5 2. Mosque
25 3. Church
/5 4. Temple

Question ID : 26433054156
Status : Answered
Chosen Option : 1

Q.7 As per the direction of 2022, what is the annual income limit to be eligible for a
microfinance loan?

Ans X 1.%4,00,000
«# 2.%3,00,000
2% 3.%2,00,000
4% 4.%5,00,000

Question ID : 26433054567
Status : Not Answered
Chosen Option : ==

Q.8 Which Committee suggested for the inclusion of Fundamental Duties?
Ans X 1. Sarkaria Committee

#5 2. Balwant Rai Mehta Committee
25 3. Kothari Committee
" 4. Swaran Singh Committee

Question ID : 26433054075
Status : Answered
Chosen Option : 2
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Q.9 The ‘Pietra Dura’ technique was majorly adopted by which of the following ruling
dynasties in India?

Ans 4 1. Mughal
5 2. Tughlag
/< 3. Lodi
25 4. Suri

Question ID : 26433054164
Status : Not Answered
Chosen Option : --

Q.10 Which state has five rivers called the Panjnad?
Ans X 1. Uttar Pradesh

25 2. Bihar
«" 3. Punjab
#5 4. Madhya Pradesh

Question ID : 26433071596
Status : Answered
Chosen Option : 3

Q.11 In December 2021, who among the following won the ‘Woman of the Year Award’,
given by World Athletics, for grooming talent and encouraging young girls in India to
take up sports and to fight for gender equality?

Ans X 1. Shiny Abraham
5 2. PT Usha
2 3. Ashwini Akkunji
«" 4. Anju Bobby George

Question ID : 26433054453
Status : Not Answered
Chosen Option : ==

Q.12 Who won the first Kalidas Samman in the field of classical dance?
Ans X 1. Narayan Shridhar Bendre

¥ 2. Rukmini Devi Arundale
5 3. KG Subramanyam
25 4. Ram Kumar

Question ID : 26433054414
Status : Not Answered
Chosen Option : ==

Q.13 Sher Shah Suri defeated Humayun at in AD 1539.
Ans 25 1. Kannayj

#5 2. Lahore

25 3. Panipat

«" 4. Chausa

Question ID : 26433081945
Status : Answered
Chosen Option : 4
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Q.14 The 51st Conference of Governors and Lieutenant Governors was held at
Ans X 1. Chennai

#5 2. Bengaluru
25 3. Hyderabad
o 4. New Delhi

Question ID : 26433074169
Status : Answered
Chosen Option : 4

Q.15 The cultural festival named ‘Attolu Eidu’ (Island Festival) is celebrated
in

Ans X 1. Daman & Diu
«# 2. Lakshadweep
£5 3. Chandigarh
X 4. Delhi

Question ID : 26433054215
Status : Answered
Chosen Option : 1

Q.16 In 1995, a thrift-and-credit society was started for poor women. What was its main
objective?

Ans X 1. To provide free education for women
25 2. To provide transport facilities for working women
" 3. To encourage poor women to save

25 4. To provide jobs for women

Question ID : 26433065419
Status : Answered
Chosen Option : 1

Q.17 When did Prime Minister Narendra Modi launch the RBI Retail Direct Scheme and
Reserve Bank- Integrated Ombudsman Scheme?

Ans X 1.January 2022
X 2. February 2022
5 3. October 2021
" 4. November 2021

Question ID : 26433061829
Status : Not Answered
Chosen Option : ==

Q.18 In which scheme of the Andhra Pradesh government, financial assistance of ¥15,000
per annum is provided to each mother or a recognised guardian in the below poverty
line (BPL) household, irrespective of the number of children in that family studying
from Class | to XIl, for the 2020-21 academic year?

Ans X 1.Jagananna Vasathi Deevana
% 2. Jagananna Gorumudda
#% 3. Jagananna Vidya Deevana

«# 4. Jagananna Amma Vodi

Question ID : 26433069805
Status : Answered
Chosen Option : 3
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Q.19 Which of the following states showed the highest percentage of decadal growth in
India, according to Census (2011)?

Ans X 1. Tamil Nadu
2 2. Uttar Pradesh
& 3. Bihar

" 4. Meghalaya

Question ID : 26433066612
Status : Answered
Chosen Option : 4

Q.20 Citrus fruits are rich in
Ans  # 1. Vitamin C

#< 2. Vitamin E
2 3. Vitamin D
5 4. Vitamin K

Question ID : 26433098111
Status : Answered
Chosen Option : 1

Section : Part-B-General Intelligence

Q.1 Select the option in which the given figure is embedded (Rotation is NOT allowed).

o

®
®
@

Question ID : 26433055960
Status : Answered
Chosen Option : 2
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Q.2 Which of the following numbers will replace the question mark (?) in the given series?
61,72,94, 2,171

Ans X 1.105
X 2.132
3. 127
X 4.116

Question ID : 26433056464
Status : Answered
Chosen Option : 3

Q.3 ‘A#B’means ‘A is the sister of B’
‘A & B’ means ‘A is the father of B’
‘A @ B’ means ‘A is the wife of B’

If'P#Q@R&S#T, then how is P related to T?
Ans X 1. Daughter

& 2. Sister’s daughter
«” 3. Mother’s sister

25 4. Father’s sister

Question ID : 26433097142
Status : Not Answered
Chosen Option : --

Q.4 Based on the position in the English alphabetical order, three of the following letter-
clusters are alike in some manner and one is different. Select the odd letter-cluster.

Ans X 1.CEIO
o 2. VXBF
< 3.RTXD
X 4. UWAG

Question ID : 26433097133
Status : Answered
Chosen Option : 2

Q.5 Select the set in which the numbers are related in the same way as are the numbers of
the given sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13 — Operations on 13 such as
adding /deleting /multiplying etc. to 13 can be performed. Breaking down 13 into 1 and
3 and then performing mathematical operations on 1 and 3 is not allowed.)
(11, 8, 57)
(13, 4, 51)

Ans X 1.(8,6,48)
X 2. (14, 8, 56)
o 3.(9,7,48)
X 4.(12,9, 69)

Question ID : 26433057086
Status : Answered
Chosen Option : 3
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Q.6 Select the correct combination of mathematical signs to sequentially replace the *
signs and to balance the given equation.
64*4*9*7*2=21
Ans @1+ —+X
X2 X =
K3 =+ =

P S " U

Question ID : 26433057478
Status : Answered
Chosen Option : 1

Q.7 Select the figure from among the given options that can replace the question mark (?) in the following series,

O ® A
?
FiN O|le
Ans
N
< 1.
O
o
o 2.
®
X 3
o ¥
X 4

Question ID : 26433055940
Status : Answered
Chosen Option : 2

Q.8 The second number in the given number pairs is obtained by performing certain
mathematical operation(s) on the first number. The same operation(s) are followed in
all the number pairs except one. Find that odd number pair.

Ans X 1.33:9
X 2.25:7
X 3.49:13
o 4.43: 11

Question ID : 26433057465
Status : Answered
Chosen Option : 4
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Q.9 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

DIVINE : ENIVID :: NATURE : ERUTAN :: PERSON : ?

Ans X 1. ONRSEP
X 2. NORSEP
« 3. NOSREP
% 4. ONSREP

Question ID : 26433097150
Status : Answered
Chosen Option : 3

Q.10 Which two signs and numbers need to be interchanged to make the following equation
correct?
(42 % 13) + (6 x 4) — (39 +3) =105

Ans X 1.42and 39, + and -
X 2.42and 6, + and -
o 3.13and 3, +and -
X 4.13and 4, + and -

Question ID : 26433057104
Status : Answered
Chosen Option : 3

Q.11 Which of the option figures is the exact mirror image of the given problem figure when the mirror is held at the right
side?

Problem figure:
g5
2:8

Ans

x2 | #$

x 4. e

Question ID : 26433057387
Status : Answered
Chosen Option : 3
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Q.12 1f the given sheet is folded to form a cube, which of the following figures are possible?

3|
5
1|6

2

"%l

7 3 4 [3
5 P 5|8 2| 1
A B c D

Ans # 1. OnlyBandC
. 2.0nlyCandD
X 3.0nlyA,Band C
< 4.0nlyAandB

Question ID : 26433059910

Status : Answered

Chosen Option : 1

Q.13 In a certain code language, 'BAG' is written as '9' and 'PURSE' is written as '25".How
will 'WALLET' be written in that language?

Ans X 1.40
o 2.36
X 3.30
X 4.49

Question ID : 26433097144

Status : Answered

Chosen Option : 2

Q.14 T® 9fFan 31 3R SURT HRA §T, IH 7 HgT, "8 A Uil & U1§ & a1 $1 uell & sdhaiid
I P I8 ¢ 1" IH AT BT IH B Ul B A V T IGY 82

Ans ¢1.éﬁ
X 2.8
X 3.91e
7 4. Tarft

Question ID : 26433067587

Status : Answered

Chosen Option : 1
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Q.15 Select the set in which the numbers are related in the same way as are the numbers of
the following sets. (NOTE : Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g. 13 — Operations on
13 such as adding /deleting /multiplying etc. to 13 can be performed. Breaking down
13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not
allowed.)

(20, 160, 60)
(25, 200, 75)

Ans  # 1.(36, 164, 46)
X 2.(19,178, 36)
X 3.(34,177, 44)
X 4.(22,130, 50)

Question ID : 26433056446
Status : Answered
Chosen Option : 1

Q16 The sequence of folding a piece of paper and the manner in which the folded
paper has been cut is shown below. Choose the figure that would most closely
resemble the unfolded form of the paper.

:’ P 'i

I 1 v []

_________ i ¢ . - -

[ ]

- Al

----- 1

Ans

X
o 2.
X 3.
X 4.

Question ID : 26433067449
Status : Not Answered
Chosen Option : --
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Q.17 Which of the following numbers will replace the question mark (?) in the given series?
525, 400, 336, 309, 301, ?

Ans  # 1.300
< 2.298
< 3.299
X 4.296

Question ID : 26433057330
Status : Answered
Chosen Option : 1

Q.18 Three statements are given followed by three conclusions numbered I, Il and IIl.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

All umbrellas are raincoats.

All raincoats are sweaters.

All sweaters are jackets.
Conclusions:

|. Some jackets are umbrellas.

Il. No jacket is a raincoat.

lll. Some sweaters are umbrellas.

Ans X 1. All conclusions follow
#5 2. Only conclusions | and Il follow
& 3. Only conclusions Il and 1l follow

«# 4. Only conclusions | and IlI follow

Question ID : 26433068647
Status : Answered
Chosen Option : 4
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19 Select the figure that will replace the question mark (?) in the given figure

Series.

|| 2 —
%
N

[N
1

Ans

Question ID : 26433056598
Status : Answered
Chosen Option : 2

Q.20 In a code language, 'flip this coin' is written as 'es pt ki', 'coin was lost' is written as 'th
ki ol' and 'was this real’ is written as 've th es'. What is the code for 'lost real’ in this
language?

Ans # 1.veol
X 2.thve

X 3.0les
X 4.esth

Question ID : 26433055274
Status : Answered
Chosen Option : 3

Section : Part-C-Numerical Ability
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Q.1 A cuboidal water tank contains 256 litres of water. Its depth is half of its length and its breadth is% of the difference
between its length and depth. The length of the tank is

Ans 1. 16cm
2. 18cm
X 3. 14cm
X 4.12cm

Question ID : 26433063977
Status : Answered
Chosen Option : 1

Q.2 Ramesh takes twice as long as Naresh and Mahesh together to complete a job. Naresh
takes three times as long as Ramesh and Mahesh together to complete a job. If all the
three working together can complete the job in 30 days, then find the number of days
Ramesh alone will take to finish the job.

Ans  # 1.90 days
25 2. 96 days
X 3.98 days
5 4.100 days

Question ID : 26433065008
Status : Answered
Chosen Option : 1

Q.3 In what time will 6,400 amount to 12,500 if compounded 25% per annum?
Ans X 1.1vyear

X 2.4 years

< 3.2years
«" 4. 3 years

Question ID : 26433062644
Status : Answered
Chosen Option : 4

Q.4 An electronic store owner allows two successive discounts of 15% and 20% on each
item. As an incentive, if the net payment after the discounts is above %30,000, the
customer gets an additional discount of 4%. The store also has a scheme of reward
points credited to the customer’s account on previous purchases from the store. This
enables a customer to get free shopping worth ¥0.25 on every 1 reward point earned.
A customer decides to buy a hot water geyser that is marked at ¥48,000. What will be
its net selling price (in ) for him if he has 1680 reward points to his credit on the
previous purchases from this store?

Ans X 1.34,190
% 2.30,419
% 3.39,410
o 4.30,914

Question ID : 26433061893
Status : Answered
Chosen Option : 2
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Q.5 A number is increased by 30% and then decreased by 30%. Finally, the number:
Ans X 1.is decreased by 10%

< 2.is increased by 9%
#< 3. does not change
" 4. is decreased by 9%

Question ID : 26433063454
Status : Answered
Chosen Option : 4

Q.6 In what ratio should water be mixed with milk at Rs.29 per litre so as to get the average
price of the mixture at Rs.25 per litre? (Assuming the cost price of water to be zero.)

Ans X 1.23:4
o 2.25:4
X 3.4:15
X 4.4:23

Question ID : 26433073082
Status : Answered
Chosen Option : 2

Q.7 Which of the following options is the smallest?
Ans

99 58 .

o 1. m"‘m"‘]?ﬂ. 11
2 4

X 3. 32+3+§ of 85

X4 = of33+(6.5 x 4)

Question ID : 26433058192
Status : Answered
Chosen Option : 1

Q.8 A table is bought for Rs.800 and sold for Rs.950. Find the profit percent.
Ans X 1.18.70%

o 2. 18.75%
% 3.19%
X 4.19.75%

Question ID : 26433063464
Status : Answered
Chosen Option : 2

Q.9 If the mean proportional between two numbers is 18 and the first number is greater
than the second number by 15, find the first number.

Ans o 1.27
75 2.36
X 3.18
X 4.15

Question ID : 26433061430
Status : Answered
Chosen Option : 1
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Q.10 In a race of 800m, Surya beats Kamal by 150m or 30sec. Find the speed of Surya in
km/h.

A 1 222 km/h
13

. 2

x2 18Zkm/h

. 2

x3 212 km/h

. 3
x4 19Zkm/h

Question ID : 26433061170
Status : Not Answered
Chosen Option : --

Section : Part-D-Road Sense, Vehicle Maintenance, Traffic Rules/Signals Vehicle and Environmental Pollution

@1 The validity of International Driving Permit is for years.
Ans X 1. four

' 2. one

X 3. two

X 4. three

Question ID : 26433097917
Status : Answered
Chosen Option : 2

Q2 Colorless, odorless, tasteless poisonous gas is

Ans o 1. carbon monoxide
X 2. carbon dioxide
X 3. nifric oxide
X 4. sulphur dioxide

Question ID : 26433097894
Status : Answered
Chosen Option : 1

@3 What is the purpose of catalic converter in IC engine of a car?
Ans 1. Reduce air pollution

X 2. Reduce temperature

X 3. Reduce speed

X 4. Reduce oil consumption

Question ID : 26433097974
Status : Answered
Chosen Option : 3
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X 1. Speedometer
X 2. Techometer
X 3. Multimeter
+ 4 Odometer

Q4 When a cow is standing across the road?
Ans % 1. Move fast from behind ignoring cow
« 2. Move slowly with horn to push it a side
X 3. Wait until it clears the road
X 4. Pass it from front
Question ID : 26433097936
Status : Answered
Chosen Option : 2
@5 Which meter is used to indicate distance covered by the vehicle?
Ans

Question ID : 26433097965
Status : Answered
Chosen Option : 4

Ans

& 1. Diesel vehicle
X 2. Petrol vehicle
X 3. CNG vehicle

" 4. Electric vehicle

Q6 Which of the following vehicles does not require a PUC certificate in India?

Question ID : 26433097959
Status : Answered
Chosen Option : 4

Ans

X 1. GATATER (Parallel)
X2 HA (cross)

v 3. AT (Inclined)

X 4 giFgag (Inline)

7 ster ge W R TER Fr T 3 suged B 32

Question ID : 26433097943
Status : Answered
Chosen Option : 1
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X2 oifder g% &1 &3

X3 ¥ oS H g

X 4. 3% 9o Felgs T

Question ID : 26433097973

Chosen Option : --

Status : Not Answered

Q.9

This sign indicates which of the following?
Ans X 1. Give away
« 2. Stop
X 3. No Parking

X 4. No Entry

Question ID : 26433097997

Chosen Option : 2

Status : Answered

Q10 When a vehicle is approaching with flashing red or blue light you should?

power output, economy.

Ans

X 1. Mirror Tuning
+ 2. Engine tuning
X 3. Seat tuning

X 4. Tyre tuning

Ans X 1. Speedup your vehicle

X 2. Stop where you are

X 3. Ignore the vehicle

+ 4. Keep to the left of the road and slow down

Question ID : 26433097963
Status : Answered
Chosen Option : 4

Q.1 is the adjustment of an internal combustion engine to achieve optimum performance and increase the engine's

Question ID : 26433097932

Chosen Option : 2

Status : Answered



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda al.l 7 GET IT ON

Google Play

Q.12 Despite having a valid PUC certificate, if a vehicle is found polluting the environment, then the PUC certificate of the

vehicle is cancelled and its owner is directed (under Rule 116 of CMV Rules) to produce a fresh PUC certificate within
days.

Ans X 1. 10
X2 3
37
X4 5

Question ID : 26433098057
Status : Answered
Chosen Option : 1

Q.13  As per BS-VI emission norms, diesel engines will have to reduce their particulate matter levels by percent.

Ans X 1. 68
X2 50
X3 75
V4 82

Question ID : 26433098041
Status : Not Answered
Chosen Option : --

Q14 YWhich of the following is called the secondary air pollutant?

Ans 1. Carbon monoxide

+ 2. Ozone
X 3. Nitrogen Dioxide
X 4. PANs

Question ID : 26433097977
Status : Answered
Chosen Option : 4

Q.15 Vehicles equipped with catalytic converter should use unleaded petrol, because reduces effectiveness of the
catalyst.

Ans K 1. water

X 2. sulphur

X 3. hydrocarbons
4. lead

Question ID : 26433097889
Status : Answered
Chosen Option : 3
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Q.16 The function of the is to produce a spark in the engine combustion chamber at the end of the compression
stroke.

Ans 1. starting system

X 2. lighting system
X 3. charging system
« 4. ignition system

Question ID : 26433097928
Status : Answered
Chosen Option : 4

Q17 The following sign represents.

Ans 1. Cross road

« 2. Hotel

X 3. No entry

X 4. Hospital

Question D : 26433098047
Status : Answered
Chosen Option : 1

Q.18

This sign means
Ans 1. Stop

X 2. Slop ahead
X 3. Hospital
X 4. No parking

Question ID : 26433097950
Status : Answered
Chosen Option : 1

Q19 YWhich brake is known as service brake?
Ans 1. Foot brake

X 2. Hand brake

X 3. Parking brake

X 4. Emergency brake

Question ID : 26433097969
Status : Not Answered
Chosen Option : --



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Addal2417 Google Play

Q.20
This sign indicates which of the following?
Ans 1. Compulsory Keep Left
X 2. Compulsory Ahead or Turn Left/Right
X 3. Compulsory Ahead
X 4. Compulsory Turn Left/Right
Question ID : 26433097998
Status : Answered
Chosen Option : 1
Q21 This sign means
Ans X 1. Hill
+ 2. Go ahead
X 3. Slop ahead
X 4. Go slow
Question ID : 26433097952
Status : Answered
Chosen Option : 2
Q.22 Under the penal section in the Motor Vehicles Act, driving without a license attracts a fine.
Ans  X'1. 192
« 2 181
<3 191
<4 180
Question ID : 26433097903
Status : Not Answered
Chosen Option : --
Q.23 The converts the turning motion of the steering wheel into the back-and-forth motion of the link rod of the
steering linkage.
Ans X 1. steering Shaft
« 2. steering gear
X 3. steering Wheel
X 4. steering Column
Question ID : 26433097926
Status : Not Answered
Chosen Option : --



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda2i7

Q24 This sign represents

Ans 1. Compulsory turn left
X 2. Keep left
X 3. Keep right
& 4. There is no road to the left
Question ID : 26433098049
Status : Answered
Chosen Option : 1
Q25 Which is not a part of air conditioning system
Ans X 1. Compressor
« 2. Alternator
/< 3. Recejver-drier
& 4. Condenser
Question ID : 26433098079
Status : Answered
Chosen Option : 2
Q.26

Which is not automobile fuel?
Ans X 1. Petrol

« 2. PNG

X3 CNG

X 4. Diesel

Question ID : 26433098055
Status : Answered
Chosen Option : 2
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Q27 wWhich of the following is NOT correct regarding a PUC certificate?
Ans X 1.

After the expiry of period of one year from the date of first registration, every motor vehicle is required to carry a valid
PUC certificate.

x 2.

If a vehicle does not have a valid PUC certificate, then its owner is liable to be prosecuted under Section 190(2) of the
Motor Vehicles Act.

x 3.

During pollution check if a vehicle is found polluting beyond prescribed norms, necessary repairs and tuning in the
wvehicle are required.

w4
If the vehicle is not polluting then it can be driven even without a PUC certificate.

Question ID : 26433098058
Status : Answered
Chosen Option : 4

Q28 Sequence of operation of traffic light signal

Ans 1. Yellow-red-Yellow
X 2. Green-red-yellow
« 3. Red- green-yellow
X 4. Red-vellow-red

Question ID : 26433097964
Status : Answered
Chosen Option : 2

Q.29 InIndia, all battery-operated vehicles shall exhibit their registration mark in colour on
transport vehicles.

Ans % 1. yellow, black

background for

« 2. yellow, green
« 3. white, black
X 4. white, red

Question ID : 26433098066
Status : Answered
Chosen Option : 2

Q.30 g & TRl 1 SR 9 Ui a1 s 9 fafky Teet & Fraferd w0 S aaer & a1 Sl o 32
AnS X 1. TTOR P AT (tire repair)

X2 TR H '_-IEFTGR eIl (tire retreading)
X 3. TR G (tire burning)

v 4 TTIX ShHTAH (tire rotation)

Question ID : 26433097995
Status : Answered
Chosen Option : 2
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Q.31 After the issue of learner’s licence, after how many days can one apply for a driving license?

Ans 1. AQD

X2 20

« 3. 30

<410

Question ID : 26433098018
Status : Answered
Chosen Option : 3

Q.32

is used to read RPM of an engine.
Ans 1. Odometer
X 2. Volt meter

« 3. Tachometer
X 4. Ammeter

Question ID : 26433097933
Status : Answered
Chosen Option : 3

Q.33 1n a'perfect fuel combustion, the oxygen in the air converts all the hydrogen in the fuel to

Ans X 1. sulphur oxide
# 2. carbon dioxide
« 3. water
X 4. nitrogen
Question ID : 26433097906
Status : Answered
Chosen Option : 3
Q.34 is to control the emission level of various pollutants by changing the chemical characteristics of exhaust gases.
Ans X' 1. Charcoal Canister
« 2. Catalytic converter
X 3. EGR valve
X 4. PCV Valve
Question ID : 26433097988
Status : Not Answered
Chosen Option : --
Q35 Which of the following is NOT a function of lubrication of an IC engine?
Ans

X 1. To reduce friction between moving parts
X 2. To reduce wear and tear of the moving parts
« 3. To provide perfume odor in car

X 4. To provide cushioning effect

Question ID : 26433097931
Status : Answered
Chosen Option : 3
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Question ID : 26433097975
Status : Answered
Chosen Option : 3

Q.37 yWhat is the full form of CNG?
Ans X 1. Clean Natural Gas
« 2. Compressed Natural Gas

X 3. Compressed Neat Gasoline

X 4. Clean Natural Gasoline

Question ID : 26433097904
Status : Answered
Chosen Option : 2

Q.38 Which of the following is NOT a fuel supply component for CT engine?
Ans X 1. Fuel tank

X 2. Fuel injectors

X 3. Fuel lines

« 4 Air cleaner

Question ID : 26433098012
Status : Not Answered
Chosen Option : --

Q.39 F F Y F9 AT T ThAT § W ToT U7 F FROT S T A off I THT £

A" X 1. 9 welgs (brake Fluid)

« 2. TAga (lubrication)

X 3 gereT (fuel)
X 4. 9freres (coolant)

Question ID : 26433097934
Status : Answered
Chosen Option : 4
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Q.40 Which of the following is a main objective and not a secondary objective of lubrication in vehicles?

Ans % 1. To provide cushioning effect

X 2. To provide a sealing action

X 3. To provide cooling effect

o 4.

To reduce friction between moving parts to its minimum value so that power loss is minimized.
Question ID : 26433098080
Status : Answered
Chosen Option : 4
Q.41

The pistons of IC engines are usually made of )
Ans X 1. copper

X 2. cast iron

X 3. iron

« 4. aluminum alloy

Question ID : 26433097919
Status : Not Answered
Chosen Option : --

Q.42 Permanent motor vehicle registration shall be done within __ days from the date of delivery.
Ans x4 nine
X 2. eight
X 3. ten

« 4. seven

Question ID : 26433097902
Status : Answered
Chosen Option : 4

Q43 1n a vehicle, thermostat valve is a component of .
Ans 1. Ignition system
X 2. Steering system
# 3. Lubrication system

+ 4. Cooling system

Question ID : 26433098071
Status : Answered
Chosen Option : 1
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Q.44 1In compression ignition engines, fresh air is compressed to very high pressures and temperatures, and the temperature
increases up to

Ans X 1. 600°C
X 2. 300°C
X 3. 448°C
4. 538°C

Question ID : 26433098022
Status : Not Answered
Chosen Option : --

Q.45 w7 ymw At =T FoeE 3 BT Ed, @Ee @t W F R e vee e § 7w g § R
FAETe ¢, St FAEE & T S § 3K oo # =ie e T ST &H g S gl

Tgl Tt fawesm & o wer A oo o
Ans oy SfhT aTTE

X 2 gt R

X s Eerafier oer

v . TEAfEET Hres

Question ID : 26433098043
Status : Answered
Chosen Option : 2

Q46 Under which circumstance you will avoid overtaking?

Ans 1. Onacurve
X 2. When the visibility ahead is clear
X 3. After a curve

X 4. Signal given by the forward driver

Question ID : 26433097937
Status : Answered
Chosen Option : 1

asr v AT F UW IS TAG, TH |

[N N S ———
O
¥ B HET & TEAT S HEeH Fgl AT AT
;ﬁﬁﬁmgmmﬁﬁm@mmm

Question ID : 26433098036
Status : Answered
Chosen Option : 3
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Question ID : 26433098060
Status : Answered
Chosen Option : 3

Q.49 W%ﬁqﬁmwma?mﬂﬁﬁ._m(chassis)ﬁ@\ﬁﬁﬁl&mfﬁﬂ%l
Ans x 1. q_%_q

X 2. The 3R RER v

o 3. aﬁ

X 4. EGF[

Question ID : 26433098011
Status : Not Answered
Chosen Option : --

Q.50 | 3 vehicle, which of the following is the most appropriate use of side mirror?
Ans 1. watching the traffic approaching from behind

X 2. parking vehicles in reverse

X 3. seeing the back-seat passenger

X 4. seeing the face

Question ID : 26433098040
Status : Answered
Chosen Option : 1
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